
IS10063.DOC 

Assembly & Installation Manual 
Read carefully the information provided. Retain manual for future reference. 

 

36” HYPER MAX 

DIRECT DRIVE 

GALVANIZED BOX FAN 
 

 
 

 

 
 



                                                                            

 

 

2 

 

 

 

 

Step 1 

Unpack and become familiar with all of the fan components and hardware. The legend below will help to familiarize 

you with the hardware required for this assembly. The part numbers are etched onto most all of the sheet metal parts 

to assist in identification. 

 
 

 

 

 

 

 

 

 



                                                                            

 

 

3 

 

 

 

 

 

 

 

Step 2 

Assemble three of the four side panels to each other using the #10 x ½” hex head sheet metal screws (Part # 

MH8200) in each corner. Ensure that every corner has the side flange on the outside of the adjacent side panel. 

Refer to the photo below for proper flange arrangement. 

  

 
 

Step 3 

Insert the orifice into the partially assembled housing so the orifice throat is facing the indexing marks/holes on the 

front flanges of the housing panels. Refer to the photo below for indexing marks/holes.  

 

 
 

 

 

 

WARNING: 

If using powered equipment 

to drive the sheet metal 

screws, use the slowest 

speed setting available and 

the lowest torque setting 

available to avoid stripping 

of the threads. 

SIDE FLANGE 

SIDE FLANGE 

INDEXING 

MARK/HOLE 

ORIFICE THROAT 



                                                                            

 

 

4 

Step 3  (cont.) 

Fasten the orifice to the housing panels using the #10-32 x ½” hex hd screws (Part # MH8200) from the outside, 

inward (below photo). An alignment tool may be used during this process. Complete the fastening of the fourth 

housing panel together using #10 x ½” hex head sheet metal screws. 

 

 
 

Step 4. 

Assemble the motor plates to the motor mount tubes using 3/8”-16 x 1 ¼” flange head bolts (# MH8124) and 3/8”-

16 flange nuts (# MH8057) refer to photo at right below. Make sure the back-to-back plates are placed in the lower 

set of holes in the motor mount tubes and that the bolts are inserted in the forward holes on the motor plates. The 

tops of the motor mount tubes can be identified by the indexing mark near the top set of holes (refer to photo below 

left). Do not tighten fasteners at this time. 

 

  
 

 

 

 

 

MH8200 

INDEXING 

MARK 

POSSIBLE 

LOCATIONS 

TAKE NOTE 

OF BOLT 

POSITIONS 



                                                                            

 

 

5 

Step 5. 

Mount the loosely assembled motor mount subassembly to the housing using the 5/16”-18 x 2” flange head bolts (# 

MH8096) and 5/16”-18 flange head nuts (# MH90044). Insert the bolts from the outside of the housing inward and 

through the motor mount tubes. Take care to mount the motor mount subassembly into the housing with the top of 

the tubes (identified in step 4) toward the top of the housing (deeper portion of the housing is the top). Once all eight 

5/16”-18 x 2” bolts are installed and the 5/16”-18 nuts are started, tighten all fasteners securely (to approximately 

140 – 150 in. lbs.) 

 

  
 

Step 6. 

Position the motor plates as shown in photo below with the motor plate flush with motor mount tubes Making sure 

that front edge of the motor plates are parallel with the motor mount tubes (refer to photo below), tighten securely 

(approximately 15 – 20 ft. lbs.). 

 

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Flush 



                                                                            

 

 

6 

Step 7. 

Position the motor onto the motor plates with the shaft toward the discharge side of the fan housing. Insert the four 

5/16”-18 x ¾” flange head bolts (# MH8091) and 5/16”-18 flange nuts (# MH8056) refer to photo at left below. 

Align the side edge of the motor’s base plate with the inside side edge of the motor mount plate (refer to arrow in 

photo below left) and make sure there is even space on each side (refer to photo below right) and that the edges are 

parallel and tighten securely (approximately 140 – 150 in. lbs.). 

 

  
 

   
 

Step 8A. (Galvanized Blade) 

Install the blade onto the motor shaft along with the 3/16” x 3/16” key supplied with the motor. The setscrew hub on 

the blade shall be positioned toward the intake side of the fan housing. Approximately ½” of the blade tip should 

protrude from the orifice lip when the blade is properly positioned (refer to photo at left below). Once the blade has 

been properly positioned securely tighten the setscrews (approximately 80 - 85 in. lbs.) 

 

  
 

 

 

 

 



                                                                            

 

 

7 

 

Step 8B. (Cast Aluminum Blade) 

Install the blade with Tran Torque onto the motor shaft and position the blade so the Tran Torque is flush with the 

motor shaft and the hex portion of the Tran Torque protrudes from the blade hub (refer to photo at left below). When 

the blade is positioned properly tighten the Tran Torque to approximately 150 ft. lbs. of torque (refer to photo at 

right below). 

 

  
 

Step 9. 

Once the blade has been installed, rotate the blade and check to ensure equal tip clearance all the way around the 

orifice. Some lateral adjustment of the motor plates may be necessary to achieve blade centering. 

 

Step 10. 

Install the Guard Screen (Part # SCR361) onto the intake side of the box fan by using 12 - #10 x ½” screws (Part # 

MH8200) and 12 - #10 Flat Washers (Part # MH8021). Center the screen on the intake side of the fan and fasten into 

place. 

 

  
 

Step 12. 

Install either another guard screen or a shutter on the exhaust side of the fan. To install another guard screen repeat 

Step 10. To install an exhaust shutter refer to the installation instructions IS10024 that come with the shutter kit. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



                                                                            

 

 

8 

FAN MAINTENANCE 
 

CAUTION: Disconnect electrical power before servicing fan. 

 

Inspect propeller: Check to see that the propeller is secure on the shaft and that there are no signs of damage. 

 

Fasteners: Retighten nuts and bolts on a quarterly basis. Follow the torque specifications as outlined below. 

 

FASTENER / DEVICE RECOMMENDED TORQUE 
¼’-20 X ¾” HX HD BOLT 80 – 85 IN. LBS. 

5/16”-18 X ¾” HX HD BOLT 140 – 150 IN. LBS. 

5/16”-18 X 2” HX HD BOLT 140 – 150 IN. LBS. 

3/8”-16 X 1 ¼” HX HD BOLT 15 – 20 FT. LBS. 

¼” SETSCREWS (BEARINGS) 80 – 85 IN. LBS. 

5/16” SETSCREWS (PULLEYS) 80 – 85 IN. LBS. 

5/16” SETSCREWS (BLADE) 80 – 85 IN. LBS. 

TRAN TORQUE 150 FT. LBS. 

 

Lubrication: Lubricate the pillow block bearings on a quarterly basis with an NLG1 type grease. 

 

Clean Fan:  
 

Motor: Remove any dust accumulation from motor using a brush or cloth. (DO NOT USE A PRESSURE 

WASHER ON THE MOTOR) A clean motor will run cooler and last longer. Check if the motor is secure in its 

mount. 

 

Shutter: Carefully clean dust from shutter vanes and frame so that shutter opens and closes freely. If shutters are 

extremely dirty you can lose up to 45% of your fan capacity. 

 

Guard: Clean any dust or dirt buildup from fan guards using a brush. Dirty guards can also reduce airflow. 

 

Housing: Remove dust and dirt accumulations from housing with a pressure washer. 

 

If any portion of the fan is cleaned with a power washer or any liquid it is highly recommended to run the fan 

for a minimum of 15 minutes to allow the fan and motor to dry before it is left idle for any length of time. 

 

Inspect Fan Controls: All controls should be inspected every six months to assure optimum protection of your 

ventilation system. 

• Check all covers for a tight fit. 

• Wipe enclosures with a damp rag to remove dirt and dust. 

• Clean sensors with a damp rag to remove dirt and dust. Be very careful not to damage sensors. 

• NEVER CLEAN ELECTRICAL EQUIPMENT WITH A POWER WASHER! 
 

WIRING DIAGRAM: Be sure power is “OFF” before doing any wiring. All wiring shall be installed in 

accordance with national, state and local electrical codes.  Fans used to ventilate livestock buildings or other rooms 

where continuous air movement is essential should be connected to individual electrical circuits.  For electrical 

connection requirements, refer to diagram on the motor nameplate or the enclosed wiring diagram. Motors are pre-

wired for 230 volts unless otherwise specified. Motor overload protection should be provided for each fan. A circuit 

breaker switch or slow blow motor type fuse must be used. 

Three phase motors do not include overload protection. Specifications subject to change without notice. 

 

NOTE: A safety cut-off switch should be located adjacent to the fan. 

 

PROPER SHUTTER INSTALLATION: When installing the shutter, make sure the shutter vanes open upward. 

 

 

 



                                                                            

 

 

9 

 

WARNING If these ventilation products are used to support life in agricultural structures 

where failure of the system could result in loss or injury, the user must provide an 

adequate backup and alarm system. The user must accept all risks of such loss or injury 

due to the possible failure of the ventilation system. 

 

CAUTION Do not install fan with moving parts within seven feet of floor or grade level 

without a guard that complies with OSHA Regulations. Do not use unless electrical wiring 

complies with all applicable codes. Do not wire without providing for power source 

disconnect at the fan itself. Do not service except by a qualified maintenance technician and 

only after disconnecting the power source. Do not install in room where flammable 

material is stored or flammable vapors might build up. Failure to observe all of these 

precautions can result in serious injury or death. 

 

SERVICE AND TECHNICAL ASSISTANCE 
 

Your dealer or the Valco Service Department will be happy to answer all technical questions which will improve 

your use of the Galvanized fan series. Be prepared with the model number and necessary information before you 

place a call to your dealer or Valco. If your fan requires service when the warranty period has expired, please 

contact your dealer for assistance or return the unit to Valco for repair. 

 

Inquiries 
 

 
VALCO COMPANIES 

P.O. BOX 117 

210 E. MAIN ST. 

COLDWATER, OH.  45828 

Ph. 800-998-2526 


